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And how was it; if by throwing he is a Shoygaig - X7 3392 91712 X 9R722)

Overview

17127 ruled that he is 7109 in a case where he carried two A1w2 n1aRk and then two more
7°112 NAR and finally two more 2w2a naRk. However if he threw it in the same manner
he is considered a AW and is 2°r.

mMooIN anticipates a difficulty:
= 19595 193 NINYIY 99) 97 22 Y 9N

Even though that when he completed the =@ of 7"7772 X"7 P71, he completed
it 79172, so he should be 715 —

mooIn replies:
= NID MY 923 NNINAY NIINNT DI PXI MY M NPT NTINNAT 11D DIPN IoN

Nevertheless, since by the beginning of the 712397 he was a 33w, and once he threw
it he is not capable of retrieving it, and additionally, when it landed he was also

a A, therefore —
$AMY RIN XMND G0 T3 AONNHN I1DIND 2PUN

It is considered as if it was one 77232 from the beginning to the end, and he is 2.

Summary
A 7w at the beginning and end, where one has lost control is considered m2aw2a 7912.

Thinking it over
What was m»ooin assumption in his question (that he should be 7105 since YW M3

7T132), and what is N190I1N reasoning in his conclusion that he is 2°1?

'If it would have stopped after the first four MR, he would have transgressed the Mo°X of 7"772 X"7 P71, however he
would not be nRvn 27n, since it was 7°712 1910; by the last two MR, he was aware that he is transgressing.

TosfosInEnglish.com



